Name:

Vi

Comparing Weights (Metric)

Use <, > or =to comparetheweights. Answers
r \
5grams < 3kilograms 2,000grams = 2kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4,
\_ /
1) 6,594 grams 5 kilograms 2) 2,469 grams 2 kilograms 5.
6.
3) 6,324 grams 8 kilograms 4) 7,789 grams 8 kilograms
7.
5) 1,879 grams 1 kilogram 6) 2,857 grams 2 kilograms 8
9.
7) 961 grams 10 kilograms 8) 3,377 grams 3 kilograms o
. _ 11.
9) 2,742 grams 7 kilograms 10) 4,260 grams 3 kilograms
12.
11) 8,000 grams 8 kilograms 12) 2,571 grams 3 kilograms 13
14.
13) 4,009 grams 5 kilograms 14) 5,000 grams 5 kilograms
15.
15) 6,415 grams 4 kilograms 16) 2,186 grams 6 kilograms 16.
17.
17) 10,060 grams 10 kilograms 18) 9,827 grams 2 kilograms
18.
19) 5,680 grams 10 kilograms 20) 3,507 grams 4 kilograms 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
/ N\
/ 5grams < 3kilograms 2,000grams = 2kilograms \ 1 >
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o >
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. <
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
<
4.
\_ Y
1) 65%grams > 5kilograms 2) 2469grams > 2kilograms 5. >
6. >
3) 6,324grams < 8kilograms 4) 7,78 grams < 8kilograms -
7.
. . 8 >
5 1,879grams > 1kilogram 6) 2,857grams > 2kilograms '
9. <
7) 96lgrams < 10kilograms 8) 3377grams > 3kilograms o >
. _ 11. -
9) 2,742grams < 7kilograms 10) 4,260grams > 3kilograms
12, <
11) 8,000grams = 8kilograms 12) 2571grams < 3kilograms 13 <
14. -
13) 4,009grams < 5kilograms 14) 5000grams = 5kilograms
15. >
15) 6,415grams > 4kilograms 16) 2186grams < 6 kilograms 16. <
17. >
17) 10,060grams > 10 kilograms 18) 9,827grams > 2kilograms
18. >
19) 5680grams < 10kilograms 20) 3507grams < 4kilograms 19. <
20, <
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Comparing Weights (Metric) Name:
Use <, > or =to comparetheweights. Answers
e \
5grams < 3kilograms 2,000 grams 2 kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4,
\_ /
1) 6,123 grams 7 kilograms 2) 1,002 grams 1 kilogram 5.
6.
3) 9,539 grams 10 kilograms 4) 7,000 grams 7 kilograms
7.
5) 8,919 grams 6 kilograms 6) 1,509 grams 10 kilograms 8
9.
7) 354 grams 1 kilogram 8) 1,674 grams 9 kilograms o
11.
9) 4,246 grams 5 kilograms 10) 3,574 grams 3 kilograms
12.
11) 6,142 grams 10 kilograms 12) 6,070 grams 6 kilograms 13
14.
13) 4,344 grams 10 kilograms 14) 8,613 grams 7 kilograms
15.
15) 5,737 grams 5 kilograms 16) 4,000 grams 4 kilograms 16.
17.
17) 1,561 grams 6 kilograms 18) 9,314 grams 8 kilograms
18.
19) 9,804 grams 10 kilograms 20) 6,310 grams 4 kilograms 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
Ve A\
/ Sgrams < 3kilograms 2,000 grams 2 kilograms \ 1 <
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o >
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. <
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4, -
\_ j
1) 6,123grams < 7 kilograms 2) 1,002grams > 1kilogram 5. -
6. <
3) 9539grams < 10kilograms 4) 7,000grams = 7 kilograms -
7.
<
5) 8919grams > 6 kilograms 6) 1509grams < 10kilograms 8
9. <
7) 354grams < 1kilogram 8) 1,674grams < 9kilograms o >
. _ 11, <
9) 4246grams < 5kilograms 10) 3574grams > 3kilograms
12. >
11) 6,142grams < 10 kilograms 12) 6,070grams > 6 kilograms 13 <
14. >
13) 4344grams < 10kilograms 14) 8613grams > 7 kilograms
15. >
15) 5737grams > 5kilograms 16) 4,000grams = 4kilograms 16. =
17. <
17) 1561grams < 6 kilograms 18) 9314grams > 8kilograms
18. >
19) 9,804grams < 10kilograms 20) 6,310grams > 4kilograms 19. <
20, >
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Comparing Weights (Metric) Name:
Use <, > or =to comparetheweights. Answers
r \
5grams < 3kilograms 2,000 grams 2 kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4.
\_ /
1) 1,000 grams 1 kilogram 2) 8,206 grams 1 kilogram 5.
6.
3) 8,108 grams 8 kilograms 4) 2,169 grams 2 kilograms
7.
5) 3,000 grams 3 kilograms 6) 4,110 grams 5 kilograms 8
9.
7) 8,422 grams 5 kilograms 8) 404 grams 4 kilograms o
_ _ 11.
9) 10,301 grams 10 kilograms 10) 5,779 grams 3 kilograms
12.
11) 8,156 grams 3 kilograms 12) 1,199 grams 2 kilograms 13
14.
13) 3,033 grams 2 kilograms 14) 2,641 grams 7 kilograms
15.
15) 8,676 grams 8 kilograms 16) 1,835 grams 2 kilograms 16.
17.
17) 9,993 grams 7 kilograms 18) 3,928 grams 3 kilograms
18.
19) 3,365 grams 4 kilograms 20) 7,281 grams 3 kilograms 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
/ N\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1 =
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o >
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. S
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
>
4.
\_ Y
1) 1,000grams = 1kilogram 2) 8,206 grams > 1kilogram 5. ~
6. <
3) 8,108grams > 8kilograms 4) 2169grams > 2 kilograms S
7.
<
5) 3,000grams = 3kilograms 6) 4110grams < 5kilograms 8
9. >
7) 8422¢grams > 5kilograms 8) 404grams < 4kilograms o >
. _ 11, >
9) 10,301 grams > 10kilograms 10) 5779grams > 3kilograms
12, <
11) 8,156grams > 3kilograms 12) 1,199grams < 2kilograms 13 >
14, <
13) 3,033grams > 2kilograms 14) 2641grams < 7 kilograms
15. >
15) 8676 grams > 8kilograms 16) 1,835grams < 2 kilograms 16. <
17. >
17) 9,993grams > 7 kilograms 18) 3928grams > 3kilograms
18. >
19) 3,365grams < 4kilograms 20) 7,281grams > 3kilograms 19. <
20, >
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Comparing Weights (Metric) Name:
Use <, > or =to comparetheweights. Answers
r \
5grams < 3kilograms 2,000grams = 2kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4.
\_ /
1) 7,768 grams 8 kilograms 2) 2,723 grams 2 kilograms 5.
6.
3) 2,737 grams 2 kilograms 4) 2,779 grams 5 kilograms
7.
5) 5,981 grams 1 kilogram 6) 9,127 grams 9 kilograms 8
9.
7) 3,000 grams 3 kilograms 8) 5,375grams 7 kilograms 0
11.
9) 9,745 grams 9 kilograms 10) 7,849 grams 8 kilograms
12.
11) 1,094 grams 1 kilogram 12) 869 grams 1 kilogram 13
14.
13) 6,405 grams 10 kilograms 14) 9,971 grams 10 kilograms
15.
15) 1,618 grams 4 kilograms 16) 9,564 grams 10 kilograms 16.
17.
17) 5,562 grams 9 kilograms 18) 5,281 grams 10 kilograms
18.
19) 2,331 grams 3 kilograms 20) 172 grams 4 kilograms 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
/ N\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1 <
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o >
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. S
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
<
4.
\_ Y
1) 7,768grams < 8kilograms 2) 2,723grams > 2kilograms 5. -
6. >
3) 2,737grams > 2kilograms 4) 2,779grams < 5kilograms B
7. =
. . 8 <
5 598lgrams > 1kilogram 6) 9,127 grams > 9kilograms '
9. >
7) 3,000grams = 3kilograms 8) 5375grams < 7kilograms 0 <
. _ 11, >
9) 9,745grams > 9kilograms 10) 7,849grams < 8kilograms
12. <
11) 1,094grams > 1kilogram 12) 869grams < 1kilogram 13 <
14. <
13) 6,405grams < 10 kilograms 14) 9971 grams < 10kilograms
15. <
15) 1,618 grams < 4kilograms 16) 9564 grams < 10 kilograms 16. <
17. <
17) 5562 grams < 9kilograms 18) 528l1grams < 10kilograms
18. <
19) 2331grams < 3kilograms 20) 172grams < 4kilograms 19. <
20, <
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Comparing Weights (Metric) Name:
Use <, > or =to comparetheweights. Answers
r \
5grams < 3kilograms 2,000grams = 2kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4,
\_ Y
1) 1,126 grams 5 kilograms 2) 10,000 grams 10 kilograms 5.
6.
3) 9,586 grams 4 kilograms 4) 10,248 grams 10 kilograms
7.
5) 1,250 grams 8 kilograms 6) 8,013 grams 9 kilograms 8
0.
7) 3,597 grams 7 kilograms 8) 10,102 grams 10 kilograms o
11.
9) 2,566 grams 8 kilograms 10) 5,943 grams 6 kilograms
12.
11) 9,797 grams 10 kilograms 12) 5,523 grams 9 kilograms 13
14.
13) 9,232 grams 10 kilograms 14) 3,866 grams 3 kilograms
15.
15) 3,573 grams 7 kilograms 16) 5,000 grams 5 kilograms 16.
17.
17) 2,840 grams 2 kilograms 18) 6,597 grams 6 kilograms
18.
19) 1,689 grams 5 kilograms 20) 7,532 grams 8 kilograms 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
/ N\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1 <
Kilo means 1,000. So akilogramisthe In the example above the two amounts are > =
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. S
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
>
4.
\_ Y
1) 1,126grams < 5kilograms 2) 10,000grams = 10kilograms 5. <
6. <
3) 9586grams > 4kilograms 4) 10,248grams > 10kilograms -
7.
. . 8 >
5) 1,250grams < 8kilograms 6) 8013grams < 9kilograms '
9. <
7) 3597grams < 7 kilograms 8) 10,102grams > 10kilograms o <
. _ 11, <
9) 2566grams < 8kilograms 10) 5943grams < 6 kilograms
12, <
11) 9,797 grams < 10 kilograms 12) 5523grams < 9kilograms 13 <
14, >
13) 9232grams < 10 kilograms 14) 3866 grams > 3kilograms
15. <
15) 3573grams < 7 kilograms 16) 5000grams = 5kilograms 16. =
17. >
17) 2,840grams > 2kilograms 18) 6,597 grams > 6 kilograms
18. >
19) 1,689grams < 5kilograms 20) 7,532grams < 8kilograms 19. <
20, <
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Comparing Weights (Metric) Name:
Use <, > or =to comparetheweights. Answers
Ve A\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4,
\_ /
1) 5,711 grams 5 kilograms 2) 4,000 grams 4 kilograms 5.
6.
3) 7,888 grams 7 kilograms 4) 2,196 grams 3 kilograms
7.
5) 9,956 grams 10 kilograms 6) 1,068 grams 1 kilogram 8
9.
7) 2,218 grams 3 kilograms 8) 8,792 grams 1 kilogram o
. _ 11.
9) 1,812 grams 2 kilograms 10) 2,000 grams 2 kilograms
12.
11) 3,076 grams 6 kilograms 12) 3,566 grams 6 kilograms 13
14.
13) 7,215 grams 3 kilograms 14) 78 grams 7 kilograms
15.
15) 7,898 grams 3 kilograms 16) 3,602 grams 1 kilogram 16.
17.
17) 4,810 grams 2 kilograms 18) 2,339 grams 2 kilograms
18.
19) 2,917 grams 3 kilograms 20) 6,202 grams 6 kilograms 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
Ve A\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1 >
Kilo means 1,000. So akilogramisthe In the example above the two amounts are > =
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. S
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
<
4,
\_ /
1) 5711grams > 5kilograms 2) 4,000grams = 4kilograms 5. <
6. >
3) 7,888grams > 7 kilograms 4) 2196 grams < 3kilograms -
7.
. . 8 >
5) 9,956grams < 10 kilograms 6) 1,068grams > 1kilogram '
9. <
7) 2218grams < 3kilograms 8) 8,792grams > 1kilogram o —
11. <
9) 1812grams < 2kilograms 10) 2,000grams = 2kilograms
12, <
11) 3076 grams < 6 kilograms 12) 3566grams < 6 kilograms 13 >
14, <
13) 7,215grams > 3kilograms 14) 78grams < 7kilograms
15. >
15) 7,898grams > 3kilograms 16) 3,602grams > 1kilogram 16. >
17. >
17) 4810grams > 2 kilograms 18) 2,339grams > 2kilograms
18. >
19) 2917grams < 3kilograms 20) 6,202grams > 6kilograms 19. <
20, >
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Comparing Weights (Metric) Name:
Use <, > or =to comparetheweights. Answers
e \
5grams < 3kilograms 2,000 grams 2 kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4,
\_ /
1) 3,109 grams 3 kilograms 2) 9,462 grams 2 kilograms 5.
6.
3) 5,167 grams 5 kilograms 4) 1,210 grams 1 kilogram
7.
5) 5,371 grams 4 kilograms 6) 3,946 grams 4 kilograms 8
9.
7) 8,583 grams 4 kilograms 8) 7,760 grams 4 kilograms 0
11.
9) 280 grams 1 kilogram 10) 7,778 grams 1 kilogram
12.
11) 5,177 grams 5 kilograms 12) 3,402 grams 10 kilograms 13
14.
13) 8,092 grams 8 kilograms 14) 9,318 grams 10 kilograms
15.
15) 297 grams 4 kilograms 16) 6,000 grams 6 kilograms 16.
17.
17) 8,862 grams 9 kilograms 18) 1,422 grams 2 kilograms
18.
19) 6,000 grams 6 kilograms 20) 2,599 grams 6 kilograms 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
/ N\
/ Sgrams < 3kilograms 2,000 grams 2 kilograms \ 1 >
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o >
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. S
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
>
4.
\_ Y
1) 3,109grams > 3kilograms 2) 9462grams > 2kilograms 5. -
6. <
3) 5167grams > 5kilograms 4) 1210grams > 1kilogram -
7.
>
5 537lgrams > 4kilograms 6) 3,946grams < 4kilograms 8
9. <
7) 8583grams > 4kilograms 8) 7,760grams > 4kilograms 0 S
. _ 11, >
9) 280grams < 1kilogram 10) 7,778grams > 1kilogram
12. <
11) 5177grams > 5kilograms 12) 3402grams < 10kilograms 13 >
14. <
13) 8,092grams > 8kilograms 14) 9,318grams < 10kilograms
15. <
15) 297 grams < 4kilograms 16) 6,000grams = 6 kilograms 16. =
17. <
17) 8862grams < 9kilograms 18) 1,422grams < 2kilograms
18. <
19) 6,000grams = 6 kilograms 20) 2599grams < 6 kilograms 19. -
20, <
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Name:

Vi

Comparing Weights (Metric)

Use <, > or =to comparetheweights. Answers
r \
5grams < 3kilograms 2,000grams = 2kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4.
\_ Y
1) 5,399 grams 6 kilograms 2) 8,562 grams 8 kilograms 5.
6.
3) 9,147 grams 7 kilograms 4) 232 grams 1 kilogram
7.
5) 6,206 grams 7 kilograms 6) 8,830 grams 7 kilograms 8
0.
7) 9,528 grams 10 kilograms 8) 1,915 grams 9 kilograms 0
_ _ 11.
9) 5,430 grams 5 kilograms 10) 5,000 grams 5 kilograms
12.
11) 4,195 grams 6 kilograms 12) 4,677 grams 4 kilograms 13
14.
13) 10,893 grams 10 kilograms 14) 6,615 grams 3 kilograms
15.
15) 5,332 grams 6 kilograms 16) 1,219 grams 3 kilograms 16.
17.
17) 8,425 grams 7 kilograms 18) 2,111 grams 2 kilograms
18.
19) 8,702 grams 10 kilograms 20) 5,000 grams 5 kilograms 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
/ N\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1 <
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o >
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. S
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
<
4.
\_ Y
1) 5399 grams < 6 kilograms 2) 8562grams > 8kilograms 5. <
6. >
3) 9147grams > 7kilograms 4) 232grams < 1kilogram -
7.
. . 8 <
5 6,206 grams < 7 kilograms 6) 8,830grams > 7kilograms '
9. >
7) 9528¢grams < 10 kilograms 8) 1,915grams < 9kilograms 0 -
. _ 11, <
9) 5430grams > 5kilograms 10) 5000grams = 5kilograms
12, >
11) 4195grams < 6 kilograms 12) 4677grams > 4kilograms 13 >
14, >
13) 10,893 grams > 10 kilograms 14) 6,615grams > 3kilograms
15. <
15) 5332grams < 6 kilograms 16) 1,219grams < 3kilograms 16. <
17. >
17) 8425grams > 7 kilograms 18) 2111grams > 2kilograms
18. >
19) 8702grams < 10 kilograms 20) 5,000grams = 5kilograms 19. <
20. -
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Name:

Vi

Comparing Weights (Metric)

Use <, > or =to comparetheweights. Answers
Ve A\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4,
\_ /
1) 4,000 grams 4 kilograms 2) 1,862 grams 9 kilograms 5.
6.
3) 7,619 grams 8 kilograms 4) 7,215 grams 8 kilograms
7.
5) 7,173 grams 7 kilograms 6) 1,049 grams 7 kilograms 8
9.
7) 1,234 grams 10 kilograms 8) 1,590 grams 4 kilograms o
. _ 11.
9) 7,390 grams 4 kilograms 10) 2,345 grams 4 kilograms
12.
11) 6,370 grams 7 kilograms 12) 2,000 grams 2 kilograms 13
14.
13) 7,337 grams 4 kilograms 14) 5,396 grams 4 kilograms
15.
15) 8,005 grams 9 kilograms 16) 3,528 grams 3 kilograms 16.
17.
17) 7,589 grams 2 kilograms 18) 6,127 grams 6 kilograms
18.
19) 8,970 grams 9 kilograms 20) 6,965 grams 6 kilograms 19.
20.
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ﬂé Comparing Weights (Metric) Name: Answer Key

Use <, > or =to comparetheweights. Answers
Ve A\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1 =
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o <
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. <
than 5 grams. Thisis because 3 kilograms 3
is 3,000 grams.
<
4
\_ j
1) 4000grams = 4kilograms 2) 1,862grams < 9kilograms 5. >
6 <
3) 7,619grams < 8kilograms 4) 7215grams < 8kilograms -
7
. . 8 <
5) 7,173grams > 7 kilograms 6) 1,049grams < 7 kilograms
9 >
7) 1,234grams < 10kilograms 8) 1,590grams < 4kilograms o <
. _ 11, <
9) 7,390grams > 4kilograms 10) 2,345grams < 4kilograms
12. -
11) 6,370grams < 7 kilograms 12) 2,000grams = 2 kilograms 13 >
14, >
13) 7,337grams > 4kilograms 14) 5396 grams > 4kilograms
15. <
15) 8,005grams < 9kilograms 16) 3528grams > 3kilograms 16. >
17. >
17) 7,589 grams > 2kilograms 18) 6,127 grams > 6 kilograms
18. >
19) 8970grams < 9kilograms 20) 6,965grams > 6 kilograms 19. <
20, >
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Comparing Weights (Metric) Name:
Use <, > or =to comparetheweights. Answers
r \
5grams < 3kilograms 2,000grams = 2kilograms \ 1
Kilo means 1,000. So akilogramisthe In the example above the two amounts are o
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams.
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
4,
\_ /
1) 5,135grams 6 kilograms 2) 2,000 grams 2 kilograms 5.
6.
3) 8,507 grams 9 kilograms 4) 4,000 grams 3 kilograms
7.
5) 9,155 grams 2 kilograms 6) 6,435 grams 6 kilograms 8
9.
7) 4,103 grams 5 kilograms 8) 4,821 grams 5 kilograms 0
_ _ 11.
9) 10,647 grams 10 kilograms 10) 1,325 grams 6 kilograms
12.
11) 7,659 grams 7 kilograms 12) 5491 grams 6 kilograms 13
14.
13) 346 grams 1 kilogram 14) 1,670 grams 1 kilogram
15.
15) 2,650 grams 9 kilograms 16) 6,000 grams 6 kilograms 16.
17.
17) 10,896 grams 10 kilograms 18) 9,666 grams 3 kilograms
18.
19) 8,325 grams 1 kilogram 20) 2,213 grams 1 kilogram 19.
20.
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Comparing Weights (Metric) Name: Answer Key
Use <, > or =to comparetheweights. Answers
/ N\
/ Sgrams < 3kilograms 2,000grams = 2kilograms \ 1 <
Kilo means 1,000. So akilogramisthe In the example above the two amounts are > =
same thing as 1,000 grams. the same weight. Thisis because 2
In the example above 3 kilogramsis more kilogramsis equal to 2,000 grams. <
than 5 grams. Thisis because 3 kilograms 3.
is 3,000 grams.
>
4.
\_ Y
1) 5135grams < 6 kilograms 2) 2,000grams = 2kilograms 5. -
6. >
3) 8507grams < 9kilograms 4) 4,000grams > 3kilograms -
7.
. . 8 <
5) 9,155grams > 2kilograms 6) 6,435grams > 6 kilograms '
9. >
7) 4103grams < 5kilograms 8) 4,821 grams < 5kilograms 0 <
11. >
9) 10,647grams > 10kilograms 10) 1,325grams < 6 kilograms
12, <
11) 7659grams > 7 kilograms 12) 5491 grams < 6 kilograms 13 <
14, >
13) 346grams < 1kilogram 14) 1,670grams > 1kilogram
15. <
15) 2650grams < 9kilograms 16) 6,000grams = 6 kilograms 16. =
17. >
17) 10,896 grams > 10 kilograms 18) 9666 grams > 3kilograms
18. >
19) 8325grams > 1kilogram 20) 2213grams > 1 kilogram 19, >
20, >
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